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SECOND REVISION TEST-2025
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MATHEMATICS -

Time :3.00 hrs' Marks : 100

10.

‘ Part-1
Choose the correct answer: ' . 14x1=14

. A={a, b PhB={23},C={pgq, f,5} then n[(AUC) x B] is

‘a) 8 . b) 20 c) 12 d) 16

- (X) = (x + 1)3= (x - 1)3 represents a function which is ‘

a) linear b) cubic = c) reciprocal d)’ quadratic
7K=____ (mod100) .

a) 1 STH - c) 3 i d) 4

. Ifthe HCF of 65 and 117 i IS expressuble in the form of 65m'~ 117, then the value of m is

a) 4 b 2 g1 o d) 3

. The values of aandb IF 4x4 - 24x3 + 7(:“x2 +ax + b is a perfect square are

a) 100,120 b) 10,12 - ¢) -120, 100 ©d) 12,10

. Transpose of a column matrix is

a) Unitmatrix-  b) Dlagonal matrlx C) Column matnx . d) Row matrix

. Atangent is perpendlcular to the radlus atthe

a) Centre © - b) Point of contact ) Infinity - | 'd) Chord

If in tnangles ABC and EDF, Sg Eg then they will be snmllar

a) LB=ZE. ~  b) £A=4D ' C)4B=4D d) ZA=2F
If(5,7), (3,p) and (6,6) are collinear, then the value of p is |

~a) 3 . b8 )9 d) 12
(2,1)is the'point ofl Intersection of two lines ' ;
a) x-y'-3=0;3x—-y—7=0‘ D) x+y=3;3x+y=7 _ %
C) 3Xx+y=3;x+y =7 A x+3y_3=0,x-y_7=0

1.

tower or build_ing.

The angle of elevation as we move towards the foot of the vertical object like

a) decreases  b) equal = ¢) 450 | * d) increases

e e ———— i s o
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If the radius of the‘bése of a cone is tripled-and the height is doubled then the volume is

a) made6tim¢é b) made 18 times c) made 12 times d) unchanged

13. The range of the data 8,8,8,8,8 ........ 8is S s

a) 0 4 b) 1 c)8 g d) 3

A, B are said to be mutually exclusive events If D = )

a) AnB=¢ b) AnB=A c)AnB= B d) AnA'=A’
' | Part - Il |

Answer any 10 questlons (Q.No.28 is compulsory) 10x2=20

A relation Ris gwen by the set {(x,y) / y= x + 3, xe{0,1,2,3,4,5}}. Determme |ts domain

andrange , _
Letbe a funct:onf N — N be defined by f(x) = 3x + 2, XEN fnd the images of 1,2,3
|f1_+2+3+ ..... _....+k 325thenfnd13+23+33+ ....... k3

. x-3 : ‘
Simplify : —_—xz—g

If the différence between a number and its reciprocal is 244 , find the number.

8 9 \'/5' 3

5 /o

_|-1 J7 A 5
In the matrix 1 4 3 0},
6 8 -11 1

write (i) The number of elements (i) The order of the matrix

State the Menelaus Theorem. ' ,
Show that the points P(=1.5, 3) Q(6, -2) R(-—3 4) are colhnear ‘

Calculate the slope and y-intercept of the straight line 8x = 7y+6=0

If the ratio of radius of two spheres is 4 : 7 find the ratio of their volumes.
Find the diameter of a sphere whose surface area is 154 m2.

Write the s;ample space for tossing three coins using tree diagram.

Find the standard deviation of first 21 natyral numbers.
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Part - Il |
Answer any 10 questions, (q o 45 1 compulsory)

=T
LetAa é:he .T.ﬁt of all natyrg) Numbers less than 8, B = The set of 21 prime numbers iexs
than 8, & = The set of even Prime numbers. Verify that Ax (E-C) = (A2 E) - (A2 C)

X4+2, x>1
If the function fis defined by f(x)={ 2° , -1sx21

,findthe values of
x-1,-3<x<-1

() f3) () f(0) - (i) f(-1.5)

Find the sum of all natural numbers between 300 and 800 which zre drisizie by7

12) g_(40 -
A=y 31 %%14 5 » show that (A— B)T = AT—BT.

Solve:SX'—2y+'z£2, 2x+3y—z=5,x%y+z=6

. Show that in a triangle, the medians are concurrent.
35.

Show that the given points form a parallelogram #\(2.5, 3.5), B(10, 4), C(2 35, -2.3),

A mobile phone is puf_to use when the battery power is 100%. The percent of bafi=ry
power “y” (in decimal) remaining after using the mobile phone for x-hours is assumsd
asy=—0.25x + 1

i) Find the number of hours elapsed if the battery power is 40%

i) How much‘ time does it take so that the battery has no power?

_P3%4
If cosech + cot6 = P, then prove that 030 = P24

same direction. The angles of depression of the boats as cbserved from the asropians

are 60° and 30° respectively- Find the distance between the two beats. (\5 -1.732)

A cylindrical drum has @ height of 20 cm and base radius of 14 cm. Find is curved

area.
surface area and the total Sl}ffa"e

Find the mean and variance of € first °n" natural numbers.
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4 N Maths

In a Qass of 50 students, 28 opted for NCC, 30 opted for NS& and 18 apted bath NCO
and NS One of the students i salected at randam Fing e probability that

)

0

The student opted for NCC but ot Nan
The student opted for N&8 but ot NCO

i) The student opted for exactly one of then

Find the sum to n terms of the serea 8 ¢ S8+ 888+

Part- IV

Answer all the questions, Inf=id

a) Construct a tiangle similar to a given tl‘ial\dlc} PQR With ita skiea equal to \ of the

b)

b)

5

-

corresponding sides of the tﬂaugla PQR, (Seale factor T

3
| (OR)

Draw a circle of diameter & cm from a polnt 7, which fa & em away from its centre,

Draw the two tangents PA and PB to the clicle and measure el lengtha,

Draw the graph of xy = 24, x, y >0, uslng the graph, tind

i) ywhenx=3 and

1

) xwhany=@

(OR)

Draw the grap : : '
egapholywy® e x and hopeo solve \* X= 2 =0

.‘.l““‘
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